Figure X
Example transpiration demonstration setup

Figure X
Photosynthesis
carbon dioxide + water + energy -> oxygen + glucose

6CO», + 6H,O + energy -= 60, + CeH12054
Cellular respiration
oxygen + glucose -> water + carbon dioxide + energy
60, + CeH12054 -> 6H,O + 6CO, + energy
Figure X

Student post-drawing and response (interrelated plant processes referenced)
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Figure X
Student post-drawing and response (closed ecosystem)

Write, or draw and label, what you think will happen to the plant if it is sealed in the jar,
but is provided with just the right amount of indirect light.
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